B X ' B K £
1 02 2FEMRAAEREAANE

T RHELXAE

(EF—f22 2mL)

AEAFIRA

(MFZEEFR)

1.5 BEREEBEE  BRBEBHREELRBHL TG -
2. AR 1100 4% -

3. ARELAFEEZHII A —#Mb a3
3 100 4 o

4L FHEREALEES L -

b. &P B LA KT RREAAEZ M -
6. 7% > FHABERLEEE—HHR -
T AREREQYET > FHRE -

8. BRBF R AFER &3 54k -

o

AM3A > —Alby - #



102 %ﬁ}}{ FETRHE LIRS AE

%Fﬁ%;f%ﬁéwm
TREEEER BEI1H #£2H

Part 1. B3R (215590 §EALT)

(98]

10.

o F@ot-aydt=2 (A)0 (B) f(0) (O) fla) D)a (B) f(=).

The general solution of y'+y=2, is (A) ~l+ex® (B) c(l+x)e* (C)

y =4 (cos2x +sin2x) (D) ce™+2 (E) 2x—-1+ce™ .
Which of the following differential equations is not exact ? (A) ydx+xdy=0 (B)
dydc —xdy =0 (C) xy'+y+4=0 (D) 2xlnyde+y 'x?dy =0 (B) (1+x°)dy +2xpdx =0.

The inverse Laplace transform of the given function £ (_23__% 2(A) -2¢7%  (B)
+

271 12 (C) y=2¢"*cos3x (D) y=2e""sindx (E) y=2cosdx-3sindx.
Let M (f) be the Fourier transform of m(t), the Fourier transform of m(2t)cos(27 - f,t) is
W)L+ 7+ ML= £0) (B) SUM(F + 1)+ M(f = £0) (O MCf)eosen-£.) (D)

M(2f+fc) Mef-£01 (BE)2 M(2f+fc)+ MQ@f - [l

Which of the following statements is not true?

(A) 4B=0 then |4=0 or |B=0.

(B)If |4-B|=0 then |4=|8

(C) Let f(x)e By, then T(f(x))=xf(x) is a linear transformation.

(D) Rank(A)> Rank(AB) forany nxn matrix 4, B.
(E) T(0)=0 forany linear transformation 7.

12 1
Let 4o i 3J,then der24' (47 F1=2(A)1 (B)-1 (©2 (D)12 (E)-4
2

0 0

If 7:®?> > %R bea linear transformation such that 7(1,2) = (1,0,-1) and 7(0,~1) = (2,1,0).
Let T(x,y)=(ax+by,cx +dy,ex+ fy) then(A) a=-2 (B) b=5 (C) ¢c=2 (D) d=1 (E)
e=1.

x+4y-3z=0
For what value a, does the system <{3x+2y+z =10 have no solution? a=(A)-1(B) 1

y+az=-2

(C)2(D)-2(E) 3.
Which one of the following is a spanning set of %®°? (A){(1,0,0), (0,1,0)} (B) {(1,1,3),

0.2,1)}  (©) {(1,2,3), (1,1,-1), 2,3,2)y (D) {(1,0,0), (0,1,1), (1,LLD)}  (E) {(2,1,-2),
(-2,-1,2), (4,2,-4)}.
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11.Giventhat 4=|1 3 5 7|, therank of 4 equals (A)l (B)2 (C)3 (D)4 (E)O.
1 0 -1 =2

Part IL. STERE (4593 > HE1557)
1. Let the solution of a differential equation (D> +aD+b)y=0, y(0)=2, y'(0)=-3 isgiven as
y = e ¥(ccosy2x + dsiny2x). Determine the values of @, b, ¢ and d.

2. Determine the response of i(f) for the circuit of Fig.1 and V(t)=e™",

V.(t)=vy » (Hint: i(z‘):CiV;;;(L))

Fig. 1

3 2 .
3. Let 4 =[ . 0}, find all the eigenvalues and corresponding eigenvectors .
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